Multiply and Divide by Positive Powers of Ten (E)

Find each product or quotient.

17:100 = 58 x 100 =
65:100 = 12 x 1.000 =
9x10= 29:100 =
53:10 = 51 x10 =
65:1.000 = 2:100 =
13:1.000 = 71:1.000 =
7 X100 = 23 x 1.000 =
58:1.000 = 5x10=
52:100 = 76 X 100 =
29 X 1.000 = 51:10 =
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ultiply and Divide by Positive Powers of Ten (E) Answe

Find each product or quotient.

17:100=0,17 58 x 100 = 5.800
65:100 = 0,65 12 x 1.000 =12.000
9x10=90 29:100=0,29
53:10=5,3 51 x10=510
65:1.000 = 0,065 2:100=0,02
13:1.000=0,013 71:1.000=0,071

7 x100=700 23 X 1.000 = 23.000
58:1.000 = 0,058 5x10=50
52:100=0,52 76 X 100 =7.600
29 X 1.000 = 29.000 51:10=5,1
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